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ZH(600)2x2 2:(610)=208E3E g (611)=21EE2E F:(611-01)=0DEXSE [M][Ee ]
o - | ¥ 2 3
o & o & 2 | S
- = o & o = Y
350,000,000& x 14 = 350,000
CCIAZHOIMYTE MEHEY
481,000,0002! - 4,900,000,000%! = £4,419,000
- I ADICIOf AFRIALRIBHHIES 21 2
2,050,000,0008 - 4,210,000,000%! = A2,160,000
SSHR A S 0% - 2,500,000,0008 =  A2,500,000
ZRUHCK E4 0% - 2,240,000,000% =  A2,240,000
oBAEXR 5,928,751
ABIZTIAIR AN A 2
160,000, 000& - 150,000,000& = 10,000
ANBIENE 2
683,340,000& - 677,340,000& = 6,000
Z2Y o
854,050,000 - 674,250,000& = 179,800
LOI=XIEIR A
491,610,000& - 245,805,000& = 245,805
- ZSEANE 2 SEYEY A = 762,000
EEREY
1,524,117,000& - 1,335, 153,000& = 188,964
CHOHQIZRB BAX B4DS
7,200,000& - 18,814,000& = A11,614
B AREMEHRY
104,184,000& - 145,531,000& = N41,347
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QA= T ZAME 29
152,670,000& - 243,246,000& = 290,576
CEHO ST 2Y 0% - 16,248,0008 = ~16,248
- KGASI HEAE JISES
338,000,000%! - 696,342,000 = A358,342
SN BOHQIKI 0% - 4,000,0008 = A4,000
CHONAMTARSNE 2
24,234,000& - 24,578,000& = A 344
N TIPEInE
119,665,000& - 199,233,000& = AT79,568
OIS E W
14,206,000& - 36,840,000& = A22,634
QUM AETHAIL 2
27,783,000% - 34,448,000& = 26,665
ST MATHEAIS 29
414,694,000& - 517,827,000& = A 103,133
MBAE DRUE X2
18,000, 000& - 12,000,0009._-l = 6,000
883, 150,000& - 692,700,000& = 190,450
OIS A EMIE &R = 48,750
AHIRYAE A = 361,567
CAHIESQUAIL AE = 1,083,060
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AHIRUAE JIS2Y = 66,275
SZAABIIEE
175,884,0009! - 173,827,000%! = 2,057
B 4 9 L X 44 2 | X &
27,653,0008 - 26,270,0002 = 1,383
CSOIE B AHHI AN LAY
3,015,282,0002 — 942,080, 0002 = 2,073,202
. I-I/\|EOI:A|/\-| jl‘—blj|'
528,594,000& - 407,985,000& = 120,609
- HASEOISESEXR
5,628,975,000& - 4,953,095,000& = 675,880
}\l/\-ljl‘—tlj }\F
1,327,032,000& - 1,269,612,000& = 57,420
RE22 A
8,576,000,000& - 7,992,000,000& = 584,000
oEIF A 156,900
LsZEH M22s I3
10,000,000& x 3IH A = 30,000
NSO 22l H o
320,000,000& - 371,400,000& = A51,400
SASMYIIBTHEI AL
1,252,000,000& - 1,387,500,000& = A 135,500
oY Su 65,000




ZH(600)2x2 2:(610)=208E3E g (611)=21EE2E F:(611-01)=0DEXSE [M][Ee ]
o - | ¥ 2 3
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SR = 50,000
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. 2030 RYAHFHD = 4,000

HMZABANDS
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cAHNER 5,784,171
“AUHHATHE X = 3,038,000
SRUN=EF (ML) 2,747,171
-AgE -2 =4 = 281,858
- ofd =+ = 2,240,720
- Full: - R4 =23 = 27,000
-2 -0 =4 = 197,593
29 2 34,700,000& - 35,700,000& = A 1,000
cWFXTAL 350,000
QI XA M E AL = 350,000
oEZAJ|IHE 1,950,000
UpSIPARS E=FSPNEY\§o = 1,950,000
o EH A2,944,292
235 +=8H| 60,000,000& - 72,000,000& = A 12,000
JEAHEANY 42,535,000& - 50,000,000& = AT,465
LEAY 4,359,776,000& - 6,163,364,000& =  A1,803,588
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o N + “ & & 8] S
z.g = 3 o
- AFZALS 2,821,154,000& - 3,167,479,000& = A 346,325
- SEAMY 9,220,947,000& - 9,401,089,000& = A 180,142
EDHBHE R Z 4
205,200,000%! - 410,400,000 = A205,200
S8 THBHR RIRAIA
87,870,0002 - 484,800,000 = A396,930
TSI 32,400,0008 - 81,600,0008 = £49,200
CETHON K SR
91,861,000& - 533,995,000& = AN442 134
ENTETS -]
38,775,000& - 101,035,000& = AB2,260
QAIASMACHX| XA
120,000,000& - 210,000,000& = 290,000
- HOTHBHAIE
1,472,850,000& - 1,267,650,000& = 205,200
SRM=E7 (8L 445,752
- S3AE = 184,230
- MR- JEAIE = 261,522
oZ et 50, 150
HERET LRI
23,100,000& - 13,750,000& = 9,350
- =3 ASAlE &1 = 25,000
CHOIIEE 2S5BS (HUHUA) - 17,800
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